ACURA B1077: WINDSHIELD WIPER AUTO SWITCH
CIRCUIT MALFUNCTION

OVERVIEW
Severity
DIY Difficulty Level
Repair Cost : $100-$400
Can | Still Drive? : Yes

What Does The Acura B1077 Code Mean?
Faulty or intermittent windshield wiper operation.

NOTE: If you are troubleshooting multiple DTCs, be sure to follow the instructions in B-CAN System
Diagnosis Test Mode A.

What Are The Potential Causes Of The Acura B1077 Code?

e Blown fuses in the under-dash fuse/relay box.

Loose or poor connections

e Open circuit between the windshield wiper motor and the under-hood fuse/relay box
Faulty wiper motor

Faulty Relay Control Module, replace the under-hood fuse/relay box

Reference Sources

Acura B1077, DTCDECODE.
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